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SUMMATIVE ASSESSMENT-II 

fietift1d 'Q"frat'f-II 

MATHEMATICS 

JINid 
Time allowed : 3 hours 1 
f.f~ WflT : 3 eru2" 1 

[Maximum marks : 80 

I 31f'~ 3icn: 80 

General Instructions : 

1. All questions are compulsory. 

2. The question paper consists of 34 questions divided into four sections A, 

B, CandD. 
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3. Section A contains I 0 questions of I mark each, which are multiple choice 
type questions, Section B contains 8 questions of 2 marks each, Section C 
contains] 0 questions of 3 marks each, Section D contains 6 questions of 4 

marks each. 

4. There is no overall choice in the paper. However, internal choice is 
provided in one question of 2 marks. 3 questions of 3 marks each and two 

questions of 4 marks each. 

5. Use of calculators is not permitted. 

flllOIIPQ~: 

1. ~ w.T 31Rct14 §I 

2. w.T-T:Bf if 34 w.T §'it~ 7Sf1Jif 31, q, (1 3fh: G: if~§ I 

3. &;ug 31 if tzcn -tzcn 3:fcn C!Tff 1 o w.T §, 'it ~- f¥n<4J w.T § 1 ~ q if 8 

w.T § ~ if >f'fitq; 2 3:fcn CfiT ~I &;ug (1 if 1 0 w.f rfR-rfR 3icif c1i §I 

&;ug G: if 6 w.T § ~ if >f'fitq; 4 3icn CfiT ~I 

4. ¥f w.T-w if ffl f¥tw4 ;rtf ~I ~ 2 3:fcn C!Tff ~ w.T if, 3 3:fcn C!Tff 

3 'SrR7 if n2TT 4 3icn C!Tff q1 'SrR7 if 31/'"ftPAi !4Cfw4 ~ ~ §I 

5. ~C1~H2< CfiT >mPr~~ 1 

SECTION A 

lSfUS 31 

Question Numbers 1 to 10 carry 1 mark each. For each of the questions 1 to 10, 

four alternative choices have been provided, of which only one is correct. Select 

the correct choice. 

w.T ~ 1 if 1 0 Ocfi >f'fitq; w.T 1 3:fcn CfiT ~I w.T ~ 1 if 1 0 if >f'fitq; w.f c1i ~ ~ 

Rlctif4 ~ TTr?: §, ~if ~ tzcn trift ~I trift f4cJ?f4 ~I 

1. The roots of the equation x2 + x-p (p + 1) = 0, where pis a constant, are 

(A) p,p + 1 

(B) -p,p + 1 

(C) p,- (p + 1) 

(D) - p, - (p + 1) 
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fll""fiCfi{OI x2 +x-p (p + 1) = 0, ~p~~%, in~~ 

(A) p,p + 1 

(B) - p,p + 1 

(C) p,- (p + 1) 

(D) - p,- (p + 1) 

2. In an AP, if d =- 2, n = 5 and an= 0, then the value of a is 

(A) 10 

(B) 5 

(C) -8 

(D) 8 

~~ '841'""d{ ~~ d =- 2, n =50~ an= ot, "ffi acnTlfRt 
(A) 10 

(B) 5 

(C) -8 

(D) 8 

3. In Fig. 1, 0 is the centre of a circle, AB is a chord and AT is the tangent at 

A. If .LAOB = 100°, then .LBAT is equal to 

30/1/1 

(A) 100° 

(B) . 40° 

(C) 50° 

(D) 90° 

Fig.l 

T 
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.1-ij, O~TfCfll~i, AB~~i~ AT~ A 'R·~·~fwril 

~ LAOB = 100° im LBAT~i 

(A) 100° 

(B) 40° 

(C) 50° 

(D) 90° 
~1 

4. -In Fig. 2, PA and PB are tangents to the circle with centre 0. If 

LAPB = 60°, then LOAB is 

30/111 

(A) 30° 

(B) 60° 

(C) 90° 

(D) 15° 

p 

Fig. 2 

• 2 -ij, PA (f~ PB ~ Tf RiflCfll ~ 0 i, "*r -~"t&nt %1 ~ 

LAPB = 60° i, m LOAB ~ i 

(A) 30° 

(B) 60° 

(C) 90° 

(D) 15° 

p 
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5. The radii of two circles are 4 em and 3 em respectively. The diameter of the 

circle having area equal to the sum of the areas of the two circles (in em) is 

(A) 5 

(B) 7 

(C) 10 

(D) 14 

"GT~cfil~~: 4 Bmnm 3 Bm~l Gf.:IT~~ ~?!Lf1(1l ~mrr~~ 
~~~~COTCXfffi (Bm#) ~ 

(A) 5 

(B) 7 

(C) 10 

(D) 14 

6. A sphere of diameter 18 em is dropped into a cylindrical vessel of diameter 

36 em, partly filled with water. If the sphere is completely submerged, then 

the water level rises (in em) by 

30/111 

(A) 3 

(B) 4 

(C) 5 

(D) 6 

~ ~fHicnR~, ~flcnl cxrm 36 Bmt COT~ 'q"JTfllr.ft~ ~~~ ~ 18 Bm 
CXffficnT~~~~~~~~-qr;ft#~~~~~t (1)-q-r;:ft~ 

m1#~~m-mt~(Bm#)~ 

(A) 3 

(B) 4 

(C) 5 

(D) 6 
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7. The angle of elevation of the top of a tower from a point on the ground, 

which is 30 m away from the foot of the tower is 45°. The height of the 

tower (in metres) is 

(A) 15 

(B) 30 

(C) 30J3 

(D) 10J3 

~ ~ "Q.Cfi ~ ~' ~ "Q.Cfi lff.m: ~ 1l1G:-~ ~ 3 0 1ft cRt~~~' lff.m: ~ ftmR CfiT 

~ cn1ur 45 ° ~ llff.m: cRt~ (lftm .q) ~ 

(A) 15 

(B) 30 

(C) 30J3 

(D) 10J3 

8. The point P which divides the line segment joining the points A(2, - 5) and 

B(5, 2) in the ratio 2:3 lies in the quadrant 

30/111 

(A) . I 

(B) II 

(C) III 

(D) IV 

~311 A(2,- 5) o~ B(5, 2) cn1 ~ cn#t 'hsmsws cn1 2:3 ~ ~ .q ~ 

Cllffi~ Pm~~.q~~, Cffl~ 

(A) I 

(B) II 

(C) III 

(D) IV 
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9. The mid-point of segment AB is the point P( 0, 4). If the coordinates of B 

are (-2, 3) then the coordinates of A are 

(A) (2, 5) 

(B) (-2, -5) 

(C) (2, 9) 

(D) (-2, 11) 

P( 0, 4) ~ {~slRSIO~ AB CfiT litcf-~% I~ B ~ R{~liCfl (-2, 3) %, m A~ 
Pl{~liCfl% 

(A) (2, 5) 

(B) (-2, -5) 

(C) (2, 9) 

(D) (-2, 11) 

10. Which of the following cannot be the probability of an event? 

30/111 

(A) 1.5 

(B) 
'3 
-
5 

(C) 25% 

(D) 0.3 

~~~~m, fcfim~cfil SIIF4Cfl<11~"it~? 

(A) 1.5 

(B) ~ 
(C) 25% 

(D) 0.3 
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11 - - • 1 

SECTIONB 

~~ 

Question Numbers 11 to 18 carry 2 marks each. 

11. Find the value of p so that the quadratic equation px(x- 3) + 9 = 0 has two 

equal roots. 

W:rrn fll•flCfp(OI px(x- 3) + 9 = 0 if p CfiT 11R ~ cf))NltJ> ~ fcn fll{)Cf){UI ~en 

~~m-1 

12. Find whether - 150 is a term ofthe AP 17, 12, 7, 2, ..... ? 

13. 

~ cf)) N1 0> fcn c:p:rn=n:ricR ~ 1 7, 12, 7, 2, ..... CfiT ~ tre: - 15 o ~ ? 

Two concentric circles are of radii 7 em and rem respectively, where r >7. 

r1c ...,uv1u v1 luet..atlgcr~drcu:"!;-orl~;;rigrtc't6.cdn;-TduL-1fus---rne ... snnhrer ... brcie:­

Find the value of r. 

en 'E!Ch.-${1~ crffi'cfit 81~~~~: 7 ~<i~ r~t ~ r >7 ~I ~~cfit~ 

~' N1ecf)) ~ 48 ~t ~~cn)~CfK(ft~ I rCfiTlfR~ cf))N10>I 

14. Draw a line segment of length 6 em. Using compasses and ruler, find a 

point P on it which divides it in the ratio 3:4. 

30/111 

6 ~~~{@I@O:S «ffR:itJ>IlWhR~~~>rir-rif, ~o/~~ P ~ 

cf))NltJ>~~{@I@U:Scnl 3:4 ~~if~~~ 
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15. In Fig. 3, APB and CQD are semi-circles of diameter 7 em each, while 

A.RC and BSD are semi-circles of diameter 14 em each. Find the perimeter 

of the shaded region. [Use n = 2
7
2 J · 

30/1/1 

R 

Fig. 3 s 
Or 

Find the area of a quadrant of a circle, where the circumference of circle is 

44 em. [Use n = 
2~] 

• 3 -q, APBCf?.TT CQD~ 7Wft0Gfmt 3l~~~ ARC~BSD 

~ 14 W:ft '&ffi1 t 31~ ~I €91llifcnd 'qJ1l CfiT 4RJil4 ~ chl~Q\ I 

[ 1t= 272 ~J R 

A 

'Q\Cfi "Vf t "'Ci1!~ CfiT ~ ~ chl~Q\, ~ "Vf cfit 11ftfu 44 Wft %1. 

[n= 272 ~J 
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16. Two cubes, each of side 4 em are joined end to end. Find the surface area of 

the resulting cuboid. 

m'EFIT, mq~cfil ~ 4 -Mt~, ~~~cir r&k11'1:11 11mt1 ~'5Tffi 

er;rr~ CfiT ~ ~ ~ t:hlRic; I 

17. Find that value(s) of x for which the distance between the points P(x, 4) and 

Q(9, 10) is 10 units. 

x~~lfR~ch'IRit;~~~mP(x, 4)~ Q(9, 10) ~~efif~ 10 

TffiiCfi t I 

18. A coin is tossed two times. Find the probability of getting at least one head. 

~~it~ 3'&1~1 11m I Cfilf"ifcpr~~ 31HcRf SII~Cflctl ~ ch'IRit;l 

SECTIONC 

~~ 

Question numbers 19 to 28 carry 3 marks each. 

~#"&rr 19 rr 2s Ocfi~~-$ 3 3ic!igt 

19. Find the roots of the following quadratic equation : 

2-J3x2 - 5x + -J3 = 0 
Hk1R1f@ct ~ fl41Cfl(OI ~~~~ : 

2-J3x2 
- 5x + -J3 = 0 

20. Find the value of the middle term of the following AP : 

- 6, -2, 2, ...... ,58. 

30/1/1 

OR 

Determine the AP whose fourth term is 18 and the difference of the ninth 

term from the fifteenth term is 30. 
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- 6, -2, 2, ...... , 58 

~ fi4H"R ~ ~ chl~Q) ~f!Cfil ~~ 11G: 18 i am~~ 11G: CfiT ~ 11G: ~ 

3MR 30il 

21. In Fig. 4, a triangle ABC is drawn to circumscribe a circle' of radius 

2 em such that the segments BD and DC into which BC is divided by the 

point of contact D are of lengths 4 em and 3 em respectively. If area of 

~ABC= 21 cm2
, then find the lengths of sides AB and AC. 

30/1/1 

A 

BL--~~-~c 
4 D 3 

Fig. 4 

• 4 -ij, 2 Wfi ~ ~ 'Q)Cfi Vf ~ W'ffi 'Q)Cn #;~ ABC ~ '5fCFiR "@Rr Tim 

i fcn ~@I@Os BD 3fu: DC~~~ D IDU BC ~ i, cfiT <1J:kfl~lli 

~: 4 Wfi 3fu: 3 Wfi ~I~~ ABC CfiT ~ 21 Wft2 i, m ~m AB W-IT 

AC cfiT t1<t~l~lli -m<f cfil~Q) I 

A 
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22. Draw a triangle ABC in which AB = 5 em, BC = 6 em and LABC = 60°. 

Then construct a triangle whose sides are ~ times the corresponding sides 

of~ABC. 

~13f~ ABC~~ AB = 5Wft, BC = 6 Wft(fm LABC = 60°tlf?R 

~13f~~~chl~l{~echl ~~ABC~Wm~~rFit~ ~~~I 

23. Find the area of the major segment APB, in Fig 5, of a circle of radius 

35 em and LAOB = 90°. [Use 7t = 
2
7
2 J 

p 

Fig. 5 

3lTCfffi 5 -ij, cfitf ~ti@O>$ APB CfiT ~mcf chl~l{~~~~ 35 Wfit 
~ LAOB = 90°tl [ 7t = 2

7
2 ~J 

p 

24. The radii of the circular ends of a bucket of height 15 em are 14 em 

and r em (r < 14 em). If the volume of bucket is 5390 cm3
, then find 

the value of r. [use 7t = 
2
7
2 J 

30/111 

15 Wft ~ ~ ~ ~ ~ ~t11Cfil\ fuU ~ rn;;;ql~ 14 Wft (fm r Wft t 
~ r < 14 Wft t p:rf~ ~ ~ mftm 53 90 t:R" Wft t (I) r CfiT llR mcf cfi'l Nl 0: I 

[ 7t= 272 ~J 
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25. Two dice are rolled once. Find the probability of getting such numbers on 

two dice, whose product is a perfect square. 

Or 

A game consists of tossing a coin 3 times and noting its outcome each time. 

Hanif wins if he gets three heads or three tails, and loses otherwise. 

Calculate the probability that Hanif will lose the game. 

"GT1ffift Chl-~ ~ 3~1<11 ~ 1 Gf.:IT ~ ~ ~ ~m ~ 3lR ~ Sli~Cfl('ll ~ 

chlNlQ\, R!'"lCfll ~UHlh<1 ~crtm I 

~ ~ ~ ~ ~ Chl" "$r ~ ~ ~ ~ 3itt ~ ~ CfiT qftUIIIOI ~ iW:rf 

~~I "$r FN (;)1 "$r 1:R: >mr m;t ~' ~ \lfrn ~' ~~ ~ m ~I 
~~~~m~~ SJI~Cfl('ll qf\CflR-1(1 ch1N1o:1 

26. From the top of a tower 100 m high, a man observes two cars on the 

opposite sides of the tower with angles of depression 30° and 45° 

respectively. Find the distance between the cars. [use J3 = 1.73] 

1oo -m~~CTCR~~u~~GTCR~ ~qt\(1 ~m~~Cfi"R~~ 

~ ~cHIOI'"l cnlur ~: 30° W-n 45° ~I CfilU ~ ~ ~ ~ ~ cfilRJo: I 

[ J3 = 1.73 ct1Rlo:] 

27. If (3, 3), (6, y), (x, 7) and (5, 6) are the vertices of a parallelogram taken in 

order, find the values of x andy. 

30/111 

~ ~ (3, 3), (6, y), (x, 7) 3itt (5, 6) ~ ~ .q ~ ~' "Q,Cn wffiR ~ ~ 

~ m m X 3itt y ~ 11T;nrm cfi) MQ\ I 

13 [P.T.O. 
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28. If two vertices of an equilateral triangle are (3, 0) and (6, 0), find the third 

vertex. 

Or 

Find the value of k, if the points P(5, 4), Q(7, k) and R(9, -2) are collinear. 

&2lCIT 

kCfiTliHWO chlNlQ\, ~~ P(5, 4), Q(7, k) Cf~ R(9, -2) ~00~ I 

SECTIOND 

~c: 

Question Numbers 29 to 34 carry 4 marks each. 

29. A motor boat whose speed is 20 kmlh in still water, takes 1 hour more to go 

48 km upstream than to return downstream to the same spot. Find the speed 

of the stream. 

3011/1 

Or 

. d h fth . 1 1 11 Fm t eroots o e equatiOn-----=-, x =1= -4,7 
x+4 x-7 30 

~~~' Nlftchl @.R~-ij~ zofcnl:ft;~%, 48 fc8:ft m~ S!Rl¥4 ~ 
-ij, c@~ m~ ~~cfr~&lT, 1 ~3lf~~%1 mcfr~WO 

chl~Q\ I 

&2tCIT 

1 1 11 . 
fl4lcfl{OI -----=-, X=l=-4, 7 ~~WO~I 

x+4 x-7 30 

14 
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• 6-q, 14 ~~~fiJOJ<ili§"Bf~.ABC~W"til A, Bel~ Ccnl~l1R 

Cfi\·~>rcfiR~~~~fcfiCf6 ~3ft BC, CA Cl~ AB ~ll~-~3ft D, E 

~ F"IR~: ~ 1 £91llifcnct 'q11lq;r ~mcnh1~q:l 

[ n = 
2
7
2 

Cfm .J3 = 1.73 ~J 
A 

D 

~6 

33. From a solid cylinder whose height is 15 em and diameter 16 em, a conical 

cavity of the same height and same diameter is hollowed out. Find the total 

surface area of the remaining solid. [Take n = 3 .14] 

15 ~ ~ 3:fR 16 ~ OlJ"R1 ~ ~ oR:r ~ .q ~ "¢f ~ 3ft\ ~ OlJ"R1 

CfTffi ~ ~j<:JqJCf)R ~ Cf)"fl fum~% I~~ ifB q;r ~ ~ ~ ~ 

ch'l~q:l. [n = 3.14 ~] 

34. Two poles of equal heights are standing opposite to each other on either 

30/111 

~ 

side of the road, which is 100 m wide. From a point between them on the 

road, the angles of elevation of the top of the poles are 60° and 30°, 

respectively. Find the height of the poles. 

~ 100 lft~~~Gf.:IT 3TR 3w:R-~~~crrc?tG)~ffi~~l 

~ Gf.:IT 'cim ~ ~ ~ ~ ~ ~ "B 'cim ~ ft"mR ~ ~ cn1ur ~: 60° 3:fR 

30° ~~ 'cimc€t~~ ch'l~q:1 
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